(11}
g
™ g% I
Ay SR &Y
\ [/ b gh g
0 0o
WINDOWS & DOORS 5 idg 33
3 = 2
250 Staunton Turnpike, Parkersburg, WV 26104 é ; E QE
& 3% &g
v Q2 LT
§ §°g o6
& 59§ §E
96" MAX. OVERALL FRAME WIDTH a A% 2§
8800 Series : X
48.63" MAX. PANEL E X gs
® e _pge ° WIDTH 3
Vinyl Sliding Patio Door  NEFMAXDLO. _ °
WIDTH 28
-
"IMPACT" | 32
o L
o oZ
=] -0C
/ / S | &2
/// /// = > g6
% v & g Ecﬁ
o |4 e,
[ = 0 o
5 . S 33
o T K ol » |32
L O 6 2 Py
Y T & o =
z = = & 3
. & 2 9 >
4 £ 3
EVALUATED FOR USE IN THE STATE OF TEXAS = % 2 i C =
The Wincore Sliding Patio Door described herein complies with the 2006 International 3 § § | |
Residential Code (IRC), Sections R308.6 and the 2006 International Building Code (IBC), < & i
Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the s = g
following conditions: 2 0
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment / &
to base material shall be beyond roof covering. // // 2]
2.  When used in areas requiring wind-borne debris protection (Seaward and Inland | I // / @4
areas), this product complies with Section R301.2.1.2 of the IRC and Section 1609.1.2 _
of the IBC and does not require impact protection. This product meets missile level L —
“D" and includes Wind Zone 4 as defined in ASTM E 1996. L
3. Allowable design pressure requirements must be equal to or less than the design Water Bar Required
pressure rating shown in the design pressure chart, sheet 1 of this drawing. L
4. Conditions not covered by this drawing are subject to further engineering analysis. S
S
SHEET# | DESCRIPTION SAE NTS,
1 Typical elevation, design pressures & general notes -50. X
2 Horizontal cross section 26" x 94" 48.63“ X 91.63" | 41.63" X 85.25" ot +50-0 50 0 e B JK
3 Vertical cross sections G2 +50.0 -55.0 CHK. BY: - LFS
4 Frame anchoring ey
5 Bill of materials, glazing detail & components TX-4323

sHEET 1 oF 5

R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\Texas 2013\TX-4323-24.dwg, TX-4323

© 2013 R.W. BUILDING CONSULTANTS INC.



*ON| SINVLINSNOD SNIGTINE "M'Y ELOZ §

ZSBL1—4 # NOUWVMISIOZN 40 ILVOILNID SNOISIATY
SY3INIONT TYNOISSI40dd 40 QNVOE SVXAL ZD“%&MWNW_MOO%U Ag 31¥a [ON| 5_
L6LE'659'CLE 'ON euoud : Sl u wnv % ﬂ W
SESCE —Id OCOMIDA 0£Z Xog "O'd \ng "ATBN3SSY 80 1yvd b i M g |2
*ONI "SLNVLINSNOD SNIdlIng N g | 2_
SY0O0a Ollvd 9NIarsS Ml (&l Ele &=
£ZILYOLF "I'd Svxal il e |x|E !
"I'd ‘Iplwyssg "4 uopuLki] :Ag peJodesy =jusLUNDOQq :12NA0dd m E W m W %
o o O
e =
— oo <C
—] s 4 _l. [T
M E 1 a w
> Tt
("4 e 4
[a)
~ ‘
. =T
NIW 8/5 —= |=— o = <
B i &) e
i Z |
M S 1 = & n_._..u. m
m r H m_\nv “uu O
5 | . g5
| W
) B
N (o]
o ~
0 Q3
) &) :
(o]
2 1] 9 =
0 2 O
30 = 4 L
w ) (T 3 O
< ik ik ridaens < “
<I0CN 8 301 B =
<r Arifes =8 s (@]
S > E- .f.% o
A SR O
oz R - % " =l
m_ d “ mi =
= P o
i = <
sl QO
B E o
£ &5 X
mz
o~
o
D D
—_ Lo I op ] N
N N
Y @
o &
V4 - <t
o
gt |
4 [ .
x vW” 1 =0
e L | 82
- =
(7]
=1 0\
il e |

T'Z 'BMppZ-£ZEr-XINETOZ sexa \sBuimelg DgMY "a\60LT 4d\008T - TOLT foid\s1apjod 1afoid\s1oafoid - vy




R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\Texas 2013\TX-4323-24.dwg, 3.1

EXT.
SHEATHING

7

DRYWALL

[F%)
—

EXTERIOR

e

d

7

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PS)
WOOD (5G >=0.42)

/" 2"\ VERTICAL CROSS SECTION

3/

)
(1)

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 Psl)
WOOD (SG >=0.42)

:

Jess

INTERIOR

EXTERIOR INTERIOR

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

SLIDING PATIO DOORS
PART OR ASSEMBLY:

PRODUCT:

BY

wOOD o
CONCRETE o

7“3\ VERTICAL CROSS SECTION

W Shown w/ optional strap anchor

REVISIONS

NO.| DATE

oare: 3/14/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4323

SHEET 3 oF 5

@ 2013 R.W. BUILDING CONSULTANTS ING.



"ON| SLNYLINSNOD SNIg7INg "M'd ELODOZ @

ZS8LL—d # NOUVMISIOZY 40 31VOLILNID SNOISIAZY :
SYIINIONI TVYNOISS340¥d 40 QUVOB SVX3L INIYOHINY NV AH J1vad [ON - kA - 5_
— || XL
LE616°6S9'CLE FON ®uoyd : S| o,
GEGCE ™14 OdMIDA OFLZ xog .O.&gg— ‘ATAW3SSY JO lavd W _.Nr . 7% ]
"ONI “SINVLINSNOD ONIGING P el O O - 4_
S4000a OllvYd 9NIans AElEle &=
£ZI¥OL# "3'd SYXAL Wl e el|E r
‘I'd IPIWYSS "4 uopulq :Ag peupdesq sjuswinoog 110Na0¥d E|8|18|3 m %
“y Nﬁm\
g ') wm
.hn.. }f..,./ ‘1
....c. GlM.?.rU\v .\wpvﬁd
o T %Q
Ferveesan, EZLPOL o)
2 I Q:e LT T
mw.._ﬁ ....... IOW...._ZmuDZx.ﬂ__ m
7 ¥ \7arLY]
Ui, SN inE
L&Tu&s,@/ 2
Tt J0 RIS
L3 i ﬁ,w.'_.n..u”....wrs.mrﬂr w(J«..(
o
>
=
s i ('dAL) | | %
= j ('dAL) ST "D'0 XYW.ZL 7 7 /
j -
| _ I _ _ _
] - = /
* =
=
OF
T =
2 = Lo 2
%] _ = m =
T o mw =0 -
= Z3 W
= O
@W i
(%o}
T 2 /
/ .
= — l.Nl
o
A o o ﬂﬂﬂ 9
G (¥)
=
— — A
S Ly
* — / m
o | ” " =
o m i
el = O ) w
H Z o
o <Ee -5 ¢
~ y
2o < _ & =
T - =
2 M OFEE 1S
%] 0= =
A w
L
<] B
| | I I 1 I l
=
< \\
/T N ( %
& oog M.Mn ==
Z W€ o’ o
Q= w = (T m
2050 =
) F = < —
wlsm oz &
Mmoo T
00=z0O e
=0 = =8
G w 0 o 18] ™ m..
ZZwOD = X
££9% <<=o
S0< &=y
<zZzaoaQ 5 = A
oy SEO
REQH e =
0y OO0 0O
O (NN

Tt BMPZ-£ZEr-X1\ETOZ Sexa\sBumelq Jamy "a\G0LT 1d\008T - TOLT foid\siap|od 1afoig\sdafold - Y\



R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\Texas 2013\TX-4323-24.dwg, 5.1

BILL OF MATERIALS 30 | HEAD WEATHERSEAL ”
T [ oescarnon — g; :?\S)I(-I 1ST1 /4" PAN HEAD, QUADREX, SCREW STEEL
OPPER STEEL
B | 2X FRAMING [5G >=0.42) WOOD 33 | WEATHERSTRIP :
C | 1/4" MAX. SHIM SPACE : 34 | FRAME JAMB® PVC
F | #10X 2" PH WOOD SCREW (1-1/2 MIN. EMB.) STEEL 35 | WEATHERSTRIP -
H | #10x 5/8" FH SMS STEEL 39 | HANDLE KIT STEEL
P | 174" PFH ELCO OR TW CONCRETE SCREW [1-3/4" MIN. EMB ] STEEL 40 | OPERATING PANEL SIDE STILE* PVC
1| FRAME HEAD* PVC 42 | KEEPER FOR SCREEN :
2 | #8x2-3/4" FH QUADREX WOOD SCREW STEEL 43 | #4X 5/8" PAN HEAD QUADREX SCREW STEEL
3 | WEATHERSTRIP [SCHLEGEL #HF-7522-270) - 44 | #10 X 2-1/2° PPH SCREW STEEL
4 | HEAD TRACK® PVC 45 | #10 X 1-3/4" PPH SCREW STEEL
5 | STILE & RAIL* PVC 46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
& | SETTING BLOCK - 47 | SASH COVERING CAP* PVC
7| SILICONE [SIKA 552) SILICONE 48 | LOCK PLUG* PVC
8 | DURASEAL SPACER SYSTEM - 50 | STILE REINFORCEMENT STEEL
9 | SHIM - 51 | #8 X 2' TRUSS HEAD QUADREX SCREW STEEL
10 | TANDEM WHEEL STEEL 52 | INTERLOCK STEEL
11 | ROLLNG RAIL STEEL 53 | STILE REINFORCEMENT STEEL
12 | SILL” PVC 54 | Q_LON WEATHERSTRIP [SCHLEGEL NO. QEZ 345) :
13 | SILL DUST COVER* PVC 55 | WATER BAR STEEL
14 | SILLPLUGY PVC 56 | #8 X 1" PPH SMS 55
15 | SILL WEATHERSEAL - .
17_| LEFT CAP FOR SILL ADAPTER* PVC L, 8% —— e
18 | RIGHT CAP FOR SILL ADAPTER* PVC S g — 113 — 0.08" —p= (—1= Y }
19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL | &
20 | OUTSIDE SILL CLADDING STEEL % =
22 [INSECT STOP . % jelllo oo} 8 (—= i ]
23 | SCREEN .
24 | #8 X 7/8° PAN HEAD, QUADREX, SCREW STEEL 1 038" I‘E{ @ ——
25 | FIXED PANEL ANCHOR BLOCK PVC = /= A —=
26 | ANCHOR STRAP STEEL % 1 o | N
27 | SCREW CAP* PVC 3 . ANCHOR STRAP 5 g il b e
28 | GLAZING BEAD* PVC o S 4
29 | FOAM PLUG : e

lt——— 7/8" THICK
GLASS

(:> GLAZING DETAIL

1/8" ANNEALED

0.090" SAFLEX® PVB
INTERLAYER
1/8" ANNEALED
AIR SPACE

1/8" TEMPERED

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED
BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

—— 7/8"THICK
GLASS

[
W

( :: ) REINFORCEMENT
Stile

1/8" ANNEALED

0.090" DUPONT SENTRYGLAS®
INTERLAYER

1/8" ANNEALED

AIR SPACE
1/8" TEMPERED

(::) GLAIZING DETAIL

[ s

‘ﬁ"frszrgg‘i

A4

O
@j

(@)

I

0.08" —=—j=—
— B

[k

.h«:u":‘-“‘:"-’lfﬁ:‘“‘«m 4 %
o g ‘k‘: ~ 1 tid. )
Sooroial oty
Lol @, PO el A Y R
S IS
oy B ol ey .. ”n} [
i 0 : %ty
S :ﬁ[},‘: i on &
2oiHe iV wb
5t %:D&"h @: <0
U S . P o 20 - i
St P ZiT EE
AP 0™ Xre ’[jh
% : : o .
OxXpm, (0 : ook
Qg i Z E e
32.. w2 LoD e
Ql Ze: ¥ f‘%,,:v is
11\}3:'9;};\."- '

—-—I 1.08" I;r

0.08" &
-

50 REINFORCEMENT
Meeting rail

201" i

W

—=L)
=
. FRAME JAMB

( : )FRAME HEAD

<: :) FRAME SILL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585

Phone No.: 813.6859.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

SLIDING PATIO DOORS
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS, GLAZING
DETAIL & COMPONENTS

REVISIONS

NOJ DATE

DATE:

7/9/13

ScAaLE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—4323

SHEET 5 oF 5

© 2013 R.W. BUILDING CONSULTANTS INC.



